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MT-02
Calculus and differential equation
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Bachelor of Science (Bsc-12/16)
First Year, Examination-2019

Time: 3 Hours Max. Marks: 40

Note:- This paper is of Forty (40) marks divided into
two (02) Section A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A (TUS—h)
(Long Answer Type Question) @8 IR 72H)

Note:- Section - A contains Three (03) long answer-
type questions of Ten (10) marks each.
Learners are required to answer any Two
(02) questions only. (2x10=20)
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1. (a) Check convergency of the series
y
n=1
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(b) Find ds/dx for the curve

X234 y23 = 923

qh x23 + y23 = a28 % foIU ds/dx ST BT |
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2. If u = log (y sinx + x siny) then show that
0*u _ 0%u
dxdy dyox
IfE u = log (y sinx + x siny)8! I Rig HIT
b
0’u _ 0%*u
dxdy dydx
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3. (a) Find envelop of the family of ellipse.
z—z+};—z= 1, When a» + b® = c®

el ;‘—z + Z—z =13 G P IJIEANY A
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(b) Solve the differential equation

2xy dy = (x2 + y?) dx.
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Section-B (TUs—®)
(Short Answer Type Question) (oTg STRIT Y)

Note:- Section-B contains six (06) short answer type
questions of five (05) marks each. Learners
are required to answer any four (04)
questions only. (5x4=20)
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1. Find pedal equation of the circle
x2+y2—-2ax=0
g x2 + y? — 2ax = 0 P Ufad FHIGRI A
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x3+y3
Ifu = log (x2+y2) then
ou ou
prove that X+ Yoy = 1

IS u =log (§3+y3)?‘ﬁ g I

2+y2

d d
x—u+y—u

=1
dx dy

Show that in a cone of given slant height and
maximum volume half vertical angle is
tan V2.
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Find the asymptotes of the curve
x-2y)2x-y) -4y x-2y)—8x+T7y)=0

b (x— 2y (x—y)—4y x—-2y) - 8x+7y)=0
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Find complete area of the curve r? = a%cos20
b 12 = a2c0s20 BT TUT AFHE A DI |
Show that

B (m,n)=p(n, m)
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B (m, n) = B (n, m).
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